240z cubniB 072 3jude Ip 1saw 1au ojnusyes ojuend 1p aped epnjgsal eles eba)jod ejunasen e 7|0z 2iqwadip ip ebed-osbo) | uod §
‘Z10Z 2P BOUIEIOJUOPQ BAIB(ICD BZZI|0 B||3P 0}S00 [3p 2IQUIBNNP Ip BjE) BZi3) B Sjusweyalp aiudoo e eiapaacid epusizy| #
*(z10z axquisaip & %0¢ 8 )0z oubinib e %0 ‘7407 8jude pe %0F) olpuadns uijopao ins eba|j0) ejunasew e a|iqepqappe opodw |,
‘nuasse-obun| 1e pa awn-ped e ajeucsiad |1 Jad ayoue Ipiea wedwy

6£'85 19'9Z (19°9Z +19°9Z + 8¥'GE) 0188 G8 Yl
19°/S £e'L2 (€772 +2677Z +EP9E) BO'LE 8 'NOPY| Vi
Z1'95 85'82 (86°8Z + /G'8Z + 01'8E) SZ'S6 g8 N7
£9'65 1£'62 (L£'67 + LE'6Z + 91 °6E) 06'L6 g8 QA
GP'¥S GG0F (cc’oc +#S'0€ + £2°08) 287101 G8 74
61’25 1G'Z¢ (16726 +06'Z€ + GE'EP) 8E'0L g8 71 VE
0£°0S 0£'vE (0e'vE +627vE + £L°GP) TEFLL 8 T Ve
G9'8¥ GE'oE (S£°9¢ + PE'9E + 9¢'8P) S1'1ZL g 1€ VE
Z6'Sy 80'6€ (80°6€ + L0'6E + 012G) STOEL 8 A
44'L; 95 v (9S'vk + SS'bp + 0P'6S) 1S BYL G8 1'a0
9'L€ 98’ Ly (98°L¥ +98°Lk + GL'E9) 18°1G) 8 Z2'd0
v6'LE 90'€S (90°2S + 506G + #2°02) G8'9LL 8 £°00
9¢'2Z ¥9'79 (#9729 +£9°79 + 15'€8) 81807 g8 v'00
§ 710z ubn® oje aude
ul oesson eb ojuenb #©22/04 P o 2H0T 11 20d + Z40Z ouve | Jad
Ip efezied owols 01500 |9p EJRJ . BJ|9p BASIOD BIUIBI0IUOPO
B Z10Z quadip ip 0 axquiadip EZZ)j0d EAME|0D BZZN0d
efied-oufio) s exyin € duoizesuadwo) €19p 0500 BJle 8/Ze ojnquuo) | OjuSWEIpEnDUY|




